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TNPSC Group 2A Test – 5  

 

General English & General Studies 

1. Match the underlined words in Column A with their parts of speech in Column B and select the 

correct answer from the codes given  

         Column A           Column B  

a) Vijay played well   - 1) Verb  

b) He is an Engineer   - 2) Object  

c) They ate fruits   - 3) Complement  

d) I wrote a book  - 4) Subject  

 

A B C D 

a.  3 4 1 2 

b. 2 4 3 1 

c. 1 3 4 2 

d.  4 3 2 1 

 

2. Identify  the correct words and phrases given in Column A with Column B  

Column A    Column B  

a) Turn over a new leaf - 1) Special person  

b) Under the sun  - 2) In high sprit  

c) Apple of one‟s eye  - 3) Anywhere on earth  

d) Full of beams   - 4) Make a new beginning  

e) Out of the blue   - 5) As a total surprise  

A B C D E 

a. 4 3 1 5 2 

b. 3 4 1 2 5 

c. 1 2 3 4 5 

d.  5 3 1 2 4 

 

3. Choose the synonyms of the italicised  word from the options given  

Even as a young girl she preferred to sketch and paint airplanes.  

a. Decided   b. Hated   c. Chose  d. Enjoyed   

 

4. Choose the correct synonyms for underlined word from the options  

The training required immense levels of fitness. 

a. Intense  b. Stick  c. Great   d. Enjoyed   

 

5. Match the synonyms in Column A with Column B  

Column A  Column B   

a) Request  - 1) Ask 
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b) Forfeit - 2) Be enough  

c) Suffice  - 3) Plea 

d) Beseech  - 4) Lose  

A B C D  

a. 1 2 4 3 

b. 4 3 1 2 

c. 3 4 2 1 

d.   1 4 3 2 

 

6. Choose the italicized word in the context of the sentence to the appropriate synonyms 

Here criticisms were affected   

a. The Bhopal gas leakage caused severs breathing problems to the residents  

b. She tried to pass herself off as a foreigner but failed as her accent was so pretentious  

c. The news of the accident disturbed him 

d. The water in this pond has been defiled by the leather factory near by  

 

7. We believe that as a nation and as a people we need to shed our cynicism and initiate concrete action 

to realise the second vision  

a.Stop   b. begin  c. instruct  d. install   

 

8. Abbreviation of AVADI  

a. Avadi Vehicles and Armed Department of India  

b. Ambattur Vehicles  and Armed Department of India 

c. Armed Vehicles and Ammunition Depot of India  

d. Armed Vehicles and Armed Deport of India  

 

9. Match Column A and Column B 

Column A   Column B  

a) Hydrophobia - 1) Fear of Water  

b) Claustrophobia  - 2) Fear of enclosed space  

c) Acrophobia  - 3) Fear of heights  

A B C  

a. 1 3 2  

b. 1 2 3 

c. 3 1 2 

d. 3 2 1 

 

10. Match the authors with their relevant title/Awards  

A    B 

a) William Shakespeare  1) Pulitzer Prize  

b) Rabindranath Tagore  2) Bard of Avon  

c) Words Worth   3) Nobel prize 

d) Robert frost   4) Romantic Poet  
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A B C D 

a. 3 2 1 4 

b. 4 3 1 2 

c. 2 3 4 1 

d. 3 4 2 1 

 

11. Exult O shores, and ring O bells!  

But I with mournful tread,  

Walk the deck my Captain lies,  

 Fallen cold and dead. The poem written by  

a.D.H. Lawrence    b. William Shakespeare 

c. Walt Whitman     d. Words Worth  

 

12. Good man perform just deeds, and brave men die and win not honor such as gold can give and serve 

the curse that pins them down But I. Identify the rhyme scheme of in the given lines  

a. a b a b  b. a a b b  c. a b a  d. a b  b  

 

13. Which of the following lines does not Lelong to Shakespeare‟s sonnet no 116?  

a. O! no it is an ever fixed mark   b. It is the star to every wandering  

c. Echoes fade and memories die   d. Love‟s not time‟s too!  

 

14. Choose the right option  

Anton Chekhov is one of the greatest writer from  

a. Japan   b. Italy   c. Russia   d. Switzerland 

 

15. Identify the right option  

The character “Johnsy” in O Henry‟s The last belonged to  

a. Russia  b. England   c. California   d. Africa  

 

16. Match the following Poetic time under Column A with their poems Column B and select the answer 

form the codes given below  

Column A        Column B  

a) It is n‟t by size that you win or fail     -     1)  sonnet No: 116  

b) If this be error and upon be proved  

I never write, nor no man ever loved   - 2)  A psalm of life  

c) But once within the wood, we paused-  3) Be the Best  

d) Let the dead past bury its dead - 4) Going for water  

 

A B C D 
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a. 4 2 3 1 

b. 1 3 2 4 

c. 3 1 4 2 

d.   2 4 1 3  

 

17. William words worth belonged to the period of  

a. Neo-classical  b. Classical   c. Modernism   d. Romanticism 

 

18. Identify the figure of speech in the following sentence  

She accepted it as the Kind Cruelty of the surgeon‟s knife  

a. Euphemism   b. Pun    c. Oxymoron   d. Irony 

 

19. You can start the count down, you can take a last look, 

You can cross out my helmet from its plastic hook,  

You can cross out my name in the telephone book, 

-------- off to outer space tomorrow morning.  

Complete the fourth line  

a. I‟ll be   b. For I‟m   c. Setting off   d. When I‟m  

 

20. “Let me not to the marriage of true minds”  the line is from  

a. The solitary reaper     b. Sonnet No:16 

c. Death of the Goat     d. Be the Best  

 

21. The poem “O Captain!  My Captain” was published in  

a.1865   b. 1875  c.1885   d. 1895  

 

22. Tagore was knighted by the British Government is  

a.1915   b. 1916  c.1917   d.1919 

 

23. --------- in the life history of  Kiran Nedi  

a. I dare     b. Wings of fire  

c. My experiment with truth    d. Specimen days  

 

24.  In the poem “O captain ! My captain!” captain is referred to  

a.The Poet  b. Nelson Mandela  c. Abraham Lincoln  d. Jhansi Rani   

 

25. (A) Kalpana got the second chance to go to space in 2003. The flight began on January 16
th

 2004. 

The crew successfully conducted 79 experiments.  
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(B) But unfortunately it becomes her last voyage on Feb 1
st
 2004. Just sixteen minutes before the 

scheduled landing. The space shuttle exploded killing all the crew. 

a. A only correct     b. B only correct   

c. A & B both correct     d. A & B both wrong  

  

26. The height by great men reached and kept. 

Were not attained by sudden flight 

But they, while their companions slept. 

Were toiling upward in the night.     Said by 

a. Norman Nicholson     b. H.W Longfellow   

c. Kalpana Chawla     d. Neil Armstrong   

 

27. Kalpana Chawla studied her Bachelor of science Degree in Aeronautical Engineering through 

a. Tagore school of Engineering   b. Punjab Engineering College  

c. Tagore Arts and science college  d. Punjab Arts college – Karnal in 1976    

 

28. In December 1994 Kalpana was selected by NASA out of ----------------- applicants as an astronaut 

candidate in the 15
th

 group of astronauts   

a. 2962  b. 2692  c. 2269   d. 2296  

 

29. Match the following Column A with Column B  

 Column A    Column B  

a. The prince of Aragon Chooses  -  1. Lead casket  

b. The prince of Morocco Chooses  - 2. The silver Casket  

c. Bassanio Chooses    - 3. Gold Casket  

 A  B C 

a. 1 2 4 

b. 2 3 1 

c.  3 1 2 

d.  2 1 3 

 

30. In William Shakespeare‟s “THE MERCHANT OF VENICE”  

Place: The court of justice in Venice. Enter portia , dressed like a doctor of laws. 

The is an extract form the court scene, Act ------------- 

a. I   b. II   c. III   d. IV  

 

31. noble judge! O excellent young man! Who said this  

a. Antonio   b. Shylock  c. Bassanio   d. Gratiano  

 

32. Who‟s casket finds inside it a skull and a warning  

a. The prince of morocco    b. The prince of Aragon  

c. Bassanio      d. The prince of  Delmont 
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33. The author of the wooden bowl is  

a. Leo Tolstoy     b. William shake sphere  

c. D.H Lawrence     d. William words worth   

 

34. The renowned psychologist, William ------------- was speaking of people who had never found 

themselves, when he declared that the average person develops, only ten percent of his or her latent 

abilities  

a. Edison   b. James   c. Words worth  d. Emerson  

 

35. As the -------------, says “One should life oneself by one‟s own efforts and should not degrade 

oneself; for one‟s own self is one‟s friend and one‟s own self is one‟s enemy.  

a. Bhayavad Gita  b. Holly Bible   c. The Quran   d. Ramayana  

 

36. The road to success is not a bed of -------------  

a. Jasmin  b. Lilly   c. Roses   d. Flowers  

 

37. In Dale Carnegie‟s “The road to success” Emerson says  

a. “Specific goals are better than general one‟s self chosen goals are better than assigned ones    

b. “Many people makes themselves miserable by trying to imitate others”  

c. “Envy in ignorance and imitation is suicide”  

d. “Count your blessings, not your trouble.  

 

38. The next generation has put India strongly on the path of ------------------ development  

a. Education, Agriculture and Technological b. Economic, Agriculture and Mechanical  

c. Education, Agriculture and Mechanical  d. Economic, Agriculture and Technological  

 

39. “Knowing I love my books, he furnished me  

From mine own library with volumes, that  

I prize above my Duke dom”      by  

a. Shakespeare     b. Oscar wilde    

c. O‟Henry      d. Pearl s Buck  

 

40. Even from his childhood was such an Extraordinary lover of truth, that he tried to understand and 

verify and every personal experience  

a. Kiran Bedi   b. R.K Narayanan  c. M.K Gandhi  d. K.M Gandhi  

 

41. Whose Autobiography is the following “I have throughout  my life, tried to emulate my father in my 

own world of science and technology  

a. Kalpana Chawla    b. A.P.J Abdul Kalam 

c. Sumitha Williams     d. Rakesh Sharma  

 

42. The story of my life” is translated into ---------- language  

a. 40   b. 50   c. 60   d. more the 100 
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43. This means the vision should become a part of the nation, transcending Government the present and 

the future  

Who is the author of the book from which the line quoted above is taken? 

a. Jawaharlal Neheu    b. Rajendra Prasad  

c. M.K Gandhi     d. Dr. A.P.J Abdul Kalam  

 

44. “O judgment ! thou art fled to brutish beasts  

And men have lost their reason” 

Quote has been taken from  

a. Merchant of venice   b. Macbeth  c. Julius Caesar  d. King Lear   

 

45. Match the following  

 Column A   Column B  

a) Portia   - 1. The Taming of the shrew  

b) Mark Antony - 2. Hamlet  

c) Bianca   - 3. The Merchant of Venice 

d) Claudius  - 4. Julius Caesar 

 A B C D  

a.  1 3 4 2 

b. 3 4 1 2 

c. 2 1 3 4 

d. 4 1 2 3 

 

46. The story caught sneezing is adapted from the short story written by  

a. O‟ Henry     b. Robert frost   

c. Bonnie Chamberlain   d. Oscar wilde  

 

47. ------ foot- print is a term used for emission of carbon dioxide by an individual  

a. Carbon   b. Nitrogen   c. Sul phurr  d. Oxgen  

 

48. -------- Won awards the Roman mag saysay Awards in 1994, Asia region for Drug Prevention & 

control  

a. Aravind Gejerwal  b. Kiran Bedi  c. Arunthati Roy  d. Sir C. V Raman  

 

49. Kiran bedi is the founder of Non Governmental Organisations (NGO‟s) -------- for prison  

reformation, drug abuse prevention & child welfare in 1994  

a. Navjyothi     b. Indiavision foundation   

c. NavAyathra     d. India Audio foundation  

 

50. The science Teacher of A.B.J Abdul Kalam  is ----------------  

a. Aravindan     b. Siva Prakasar   

c. Ramananda Satry     d. Siva Subramania Iyar  
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51. Who among the following proposed the creation of a Preamble before the drafting committee?  

 a. B.N. Rau   b. Jawaharlal Nehru  c. Patel   d. B.R. Ambedkar  

 

 

52. In which of the following cases, the Supreme Court gave a ruling Preamble was a part of the 

constitution?  

 a. Golaknath Case 1967    b. Kesavananda Bharti Case 1973  

 c. Berubari case 1960    d. Sajian Singh case 1965  

 

 

 

53. DPSP was borrowed from?  

a. Germany   b. Ireland   c. South Africa  d. Australia  

 

 

54. Match the Column A with Column B  

Column A   Column B  

A. Britain   - 1. 5 year plan  

B. USA  - 2. Parliamentary system   

C. South Africa  - 3. Fundamental Rights  

D. USSR  - 4. Amending Process  

 

 

A B C D  

a. 2 3 4 1 

b. 2 4 3 1 

c. 2 3 1 4 

d.  2 1 3 4 

 

55. Arrange the terms in proper sequence as they appear in the preamble of the constitution of India  

a. Sovereign, Socialist, Secular, Democratic, Republic  

b. Sovereign, Secular, Socialist, Democratic, Republic  

c. Sovereign, Democratic, Socialist, Secular, Republic  
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d. Sovereign, Socialist, Democratic, Secular, Republic   

 

 

56. Which one of the following is not a characteristic of Indian administration?  

a. Uniformity      b. Decentralization  

c. Dyarchy      d. Independent Judiciary   

 

 

57. Which one of these is the primary source of Indian constitution?  

a. British constitution     b. Irish constitution  

c. Government of India act 1935   d. German constitution  

 

 

58. Who said preamble is the key note to the constitution?  

a. Ernest Barkar  b. K.M. Munshi  c. B.R. Ambedkar  d. Jawaharlal Nehru   

  

 

59. Which of the following two words were added in the chronological order to the preamble through 

42
nd

 Amendment act 1976?  

a. Secular & Socialist     b. Socialist & Secular 

c. Socialist & Sovereign    d. Sovereign & Secular    

 

 

60. Consider the following  

1. The Preamble describes India as a secular State.  

2. The 44
th

 amendment 1978. 

Which of the statement given below is/are correct?  
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a. only 1  b. only 2  c. Both 1 & 2  d. None of the above  

 

61. If the radius of a circle is increased by 25% then its area is increased by 

     a. 50%  b. 25%   c. 56.25%  d. 46.25% 

 

62. 5% income of X is equal to 15% income of Y and 10% income of Y is equal to 20% income of Z. if 

income of Z is Rs.3,000 then total income of X, Y & Z in Rupees is 

 

a. Rs. 18,000  b. Rs.12,000  c. Rs.27,000  d. Rs.16,000 

 

63. One liter of water is added to 5 liters of a 20% solution of alcohol in water. The strength of alcohol 

in the new solution is 

 

 a. 16 2/3%  b. 15%   c. 20%   d. 16% 

 

64. If A‟s height is 25% less than that of B, then how much percent is B‟s height more than that of A? 

 

 a. 50%   b. 45%   c. 22 1/3%  d. 33 1/3% 

 

65. The population of a city is 5,13,200. If it increases at the rate of 12% per annum, what will be its 

population after 3 years? 

 

 

 a. 7,12,009  b. 7,10,092  c. 7,21,009  d. 7,92,100 

 

66. When 24 is subtracted from a number, it reduces to its four – seventh. What is the sum of the digits 

of that number? 

 a. 1   b. 9   c. 11   d. 10 
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67. The length of a rectangle is increased by 10% and its breadth is decreased by 10%. The area of the 

new rectangle 

 

 a. remains same    b. is increased by 1% 

 c. is decrease by 10%    d. is decreased by 1% 

 

68. In an examination 30% of total students failed in English, 40% of students failed in Hindi and 20% 

in both. Find the percentage of students who passed in both the subjects 

 

 a. 50%   b. 20%   c. 10%   d. 60% 

 

69. 30 percent of a number is 15 less than 3/5
th

 of that number. What is the number? 

 

 a. 48   b. 52   c. 50   d. 70 

 

70. If A‟s salary is 20% less than B‟s salary, by how much percent is B‟s salary more than A‟s? 

 

 a. 24%   b. 25%  c. 20%   d. 22% 

 

71. Which Portuguese viceroy introduced “Blue Water Policy” 

 a. Bartholomeu Diaz    b. Vascodagama 

 c. Francisco-de-Almeida   d. Alfonso-de-Albuquerqu 

 

72. Match the following 

 1. The second Carnatic war  - A. Treaty of Mangalore 

 2. The third Carnatic war  - B. Treaty of Madras 

 3. First Anglo Mysore war  - C. Treaty of Paris 

 4. Second Anglo Mysore war  - D. Treaty of Pondicherry 
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 Codes: 

  1 2 3 4  

 a.  A B C D 

 b. B A D C 

 c. D C B A 

 d. C D A B. 

 

73. Who was called the „Tiger of Mysore‟ 

 a. Hyder Ali  b. Tipu Sultan c. Lord Wellesley d. Krishna 

 

 

74. The capital of Carnatic was? 

  a. Sadhara  b. Karaikal  c. Pondicherry  d. Arkot 

 

75. The first victory of Portuguese possessions in India? 

 a. Henry     b. Francisco-de-almeida 

 c. Alfonsa-de-Albuguerque   d. Barthalomeo Diaz 

76. Count-de-lally was defeated by sir Eyrecoote at the battle of ------ 

 a. Madras  b. Kanpur  c. Chennai  d. Vandhavasi 

77. The hero of Arcot was? 

 a. Dupleix  b. Robert Clive c. Mir Jafor  d. Mirkaasim 

 

78. In which battle made the English East Company a sovereign power in India 

 a. Plessey  b. Buxzar  c. Mysore War  d. Pindari war 
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79. The English East India Company was started in 

 a. 1600 A.D  b. 1644 A.D  c. 1664 A.D  d. 1569 A.D 

80. The first Anglo – Mysore War came to an end by the treaty of ------ 

 a. Yandakoo  b. Madras  c. Mangalore  d. Pondicherry 

81. Who adopted the constitution of India on the 26
th

 Nov 1949?  

a. People of India      

b. Parliament of India    

c. Representation of the people of India in constituent assembly 

d. Cabinet  

 

 

82. Which one of these is a federal feature of the Indian constitution?  

a. A written and rigid constitution    

b. An independent judiciary  

c. Vesting of residuary powers with the centers 

d. Distribution of powers between the center and States 

 

 

83. Match the country with its parliament names  

Country    Parliament  

A. Ireland - 1. Orieachtas    

B. Germany  - 2. Bundestag  

C. Russia  - 3. Duma  

D. Japan  - 4. Diet  
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A B C D  

a. 1 3 2 4 

b. 2 1 3 4 

c. 3 2 1 4 

d. 1 2 3 4 

 

84. The “equality before law” is taken from which Country constitution  

a. Australia   b. France   c. Japan   d. UK 

 

85. Which one of the following pair is not correctly matched  

a. Power of parliament   - Creating a new State  

b. Power of State legislature  - Altering the name of the State  

c. Equality before the law   - Both Indian and Non-Indian citizens  

d. Equality of opportunity   - Indian citizen  

 

 

86. RTI in India is a  

a. Fundamental Right     b. Legal right    

c. Both a & b     d. Neither a nor b  

 

87. Public Interest litigation (PIL) may be linked with  

a. Judicial review     b. Judicial activism  

c. Judicial intervention    d. Judicial sanctity  

 

88. Socialism is opposed to  

a. Social security scheme    b. Equal distribution of wealth  

c. Unrestricted competition   d. Collective ownership and management   
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89. Which one of the following Article related to establishment of village panchayats?  

a. Art 19  b. Art 21  c. Art 40  d. Art 246  

 

 

90. Match the following  

Fundamental Right       Articles  

A. Right to constitutional remedies   - 1. 29  

B. Protection of the rights of Minorities  - 2. 17  

C. Abolition of untouchability   - 3. 32  

D. Equal opportunities in Public Employment - 4. 32 

      5.  19 

A B C D  

a. 5 3 4 1 

b. 5 1 4 3 

c. 4 1 2 3 

d. 4 3 2 1 

91. If 50% of (x-y) = 30% of (x+y) then what percent of x is y? 

 a. 24%   b. 25%  c. 20%   d. 22% 

 

92. If 18% of the total number of oranges in a basket is 36. Then the total number of oranges is 

 

 a. 100   b. 150   c. 200   d. 300 

 

93. The price of a commodity becomes 16 times in a period of 4 years. The percentage increase per 

year is 

 

 a. 100   b. 40   c. 60   d. 20 

 

94. If the radius of a circle is decreased by 50%, find the % decrease in its area 

74%  b. 75%  c. 76%   d. 95% 

 



THE IMPACT IAS ACADEMY  

 

                                                     www.impactiasacademy.com      

AC – 12, 3
rd

 Floor, 2
nd

 Avenue, Anna Nagar, Opp SBI Bank, Chennai – 600 040 

Call : 044 – 43537455 / 09840 557455  :  e-mail: impactias@gmail.com 
 

 
 

P
ag

e1
6

 

95. In an election 30% of the voters voted for candidate A whereas 60% of the remaining voted for 

candidate B. the remaining voters did not vote. If the difference between those who voted for 

candidate A and those who did not vote was 1200, how many were eligible for casting vote in that 

election? 

 

 a. 40,000  b. 50,000  c. 60,000  d. 6,000 

 

96. What will be 60% of a number whose 300% is 120? 

 a. 12   b. 24   c. 36   d. 48 

 

97. A bought a horse for Rs.10,000 and sold it to B at 10% profit and B sold it to C at 10% loss. The 

amount paid by c is 

 

 a. Rs.10,000  b. Rs.9,900  c. Rs.9,999  d. Rs.11,000 

 

98. If 2% of x is 40, then 2% of (x+50)= 

 a. 50   b. 401   c. 410   d. 41 

 

99. Which is longest in 28%, 2.8%, 2/9 and 0.25? 

 a. 28%  b. 2.8%  c. 2/9   d. 0.25 

 

100. A tree increase by 1/5 of its height every year. What is the height of the tree after 2 years, if its 

height is 50cm now? 

 

 a. 70   b. 60   c. 72   d. 65 

 

101. Which one of the following is correctly matched  

 Reform Movement     Founders  

 1. Brahmo Sabha   -  Raja Ram Mohan Raj  

 2. Prarthana Sabha  -  Atmaram Panduranga  

 3. Paramahansa Mandali -  Dadoba Panduranga  

 4. Arya Samraj   -  Dayananda Saraswathi  
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 a. 1, 2, 3, 4  b. 1, 2, 4 only  c. 1, 3, 4Only  d. 1, 4 Only  

 

102. “The Light of meaning of Truth” – book was written by  

 a. Swami Vivekananda    b. Dayananda  Saraswathi  

 c. K.C. Sen     d. Devendranath Tagore  

 

 

103. Which one of the following statement is correct regarding Raja Ram Mohan Roy principle  

 1. He opposed idol worship   

 2. He believed that all religions preach a common message  

 3. He believed that the philosophy of Vedanta  

 4. He was opposed to Sanskrit system of education  

 

 

 a. 1 Only  b. 1, 3 Only  c. 1, 2, 3 only   d. 1, 2, 3, 4 

 

104. Who is regarded as maker of Modern India?  

 a. M.G. Ranade    b. Mahatma Gandhi   

 c. Dayananda Sarashwathi    d. Ram Mohan Roy  

 

 

105. Who was the first Indian Ruler to join the subsidiary Alliance system?  

 a. The Nawab of oudh    b. The Nizam of Hyderabad 

 c. Sultan of Madurai    d. The king of Travancore  

 

 

106. The play Neel darpan is associated with which among the following  revolts?  

 a. Santhal Revolt  b. Pabna Riots  c. Indigo Revolts d. 1857 revolts  
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107. Which one of the following Social reformer was written Raja yoga, Karma yoga, Bhakti yoga and 

Jnana yoga  

 a. M. G. Ranade     b. Swami Vivekananda  

 c. Ramakrishnar     d. Ram Mohan Roy  

 

 

108. Which among the following was the most important reason for social and religious reforms in 

nineteenth century?  

 a. Scientific inventions    b. Industrial revolution  

 c. Western education and awakening d. In fluency of newspapers    

 

 

109. Who among the following preached the doctrine of one religion, one caste and one God for 

mankind  

 a. Jyotibha phule    b. Vivekananda  

 c. Sri Narayana Guru   d. B.R. Ambedkar  

 

 

110. The Asiatic society was established in Calcutta by  

 a. Warren Hastings    b. Sir William Jones  

 c. Raja Ram Mohan Roy   d. P.R.Macaula  

 

111. Which one among the following has the power to regulate the right of citizenship in India?  

a. The union cabinet     b. The Parliament  

c. The Supreme court     d. The law commission  

 

112. Right of private property was dropped from the list of fundamental rights by  

a. 42
nd

 Amendment  b. 44
th

 Amendment  c. 52
nd

 Amendment  d. None of these  
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113. Which of the following is correctly matched?  

a. Article 14: Equal before law  b. Article 16: Equal opportunities  

c. Article 17: Abolition of titles   d. Article 18: Permission of military titles 

 

 

114. Which one of the following writs literally means. What is your authority?  

a. Habeas corpus  b. Certiorari   c. Quo warrants  d. Prohibition  

 

115. One of the following does not constitute a form of domestic violence  

a. Sexual assault  b. Hitting & Fighting  c. Physical abuse  d. Social isolation  

 

 

116. Which among the following Articles deals with the protection of environment and wildlife?  

a. Art 47  b. Art 48  c. Art 48A  d. Art 49  

 

 

117. In which part of the constitution details of citizenship are mentioned  

 

a. I   b. II   c. III   d. IV  

 

118. Which Article of the constitution allows the center to form new States?  

a. Art 3  b. Art 5  c. Art 5  d. Art 6  

 

 

119. In which of the following ways Indian citizenship can be acquired?  

a. By descent   b. By naturalization c. By registration  d. All of these   
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120. Match the following  

Parts          Provisions   

A. II   - 1. Citizenship  

B. IV A  - 2. Fundamental Duties  

C. IX   - 3. Panchayats 

D. XV   - 4. Elections  

 

 

A B C D  

a. 1 2 3 4 

b. 2 3 4 1 

c. 3 4 2 1 

d. 2 4 3 1 

121. When any number is divided by 12, then dividend become 1/4
th

 of the other number. By how  much 

percent first number is greater than the second number? 

 

    a. 50%  b. 75%   c. 100%  d. 200% 

 

122. A bicycle marked at Rs.1,500 is sold for Rs.1,350. What is the percentage of discount? 

 

   a. 12   b. 15   c. 11   d. 10 

 

123. If a/b = 9/5 then a + b/ a – b = ? 

 a/b = 9/5  a + b/ a – b = ? 

 a. 3/7   b. 7/3   c. 2/7   d. 7/2 

 

124. Find the LCM of 4
5
, 4

-18
, 4

12
 and 4

7
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4
5
, 4

-18
, 4

12
 & 4

7

 

 a. 4
12

   b. 4   c. 4
2
   d. 4

-2 

 

125. Find the HCF of 4/9, 2/5, 6/8, 2/5 

 

 

 a. 1/180  b. 2/481  c. 2/350  d. 1/142 

 

126. If 12 compositors can compose 60 pages of a book in 5 hours how many compositors will compose 

200 page of the book in 20 hours? 

 

 a. 8   b. 10   c. 12   d. 11 

 

127. A voluntary organization planted a total of 106 trees along the road side. Some of the trees non-fruit 

bearing trees. If the number of non-fruit bearing trees was two more than thrice the number of fruit 

bearing trees what was the number of fruit bearing trees planted? 

 

 a. 20   b. 22   c. 24   d. 26 

 

128. The greatest number which an dividing 1657 and 2037 leaves remainder 6 and 5 respectively is 

 

 a. 123   b. 127   c. 235   d. 305 

 

129. Six bells commence tolling together and then toll at intervals of 2, 4, 6, 8, 10 and 12 seconds 

respectively in 30 minutes the number of times they toll together is 

 

 a. 15   b. 16   c. 3600   d. 4 

 

130. LCM of 1/3, 5/6, 2/9, 4/27 is 

 a. 1/54   b. 10/27  c. 20/3   d/ none of these 
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131. Which one of the following social reforms was praised and adorned with the title Socrates of South 

Asia by UNESCO  

   a. Raja Ram Mohan Roy    b. Periyar   

 c. Swami Vivekananda    d. Dayananda Saraswathi  

 

 

132. Who is called the first Nationalist poet of Modern India  

 a. Bharathiyar      b. Henry Vivian Derozio  

 c. Raja Ram Mohan Roy    d. Bharathidasan  

 

133. Which Portuguese governor encouraged the Matrimonial relationship with Indians  

a. Albuquerque     b. France De Almaide  

c. Nino-da cunha     d. Vasco da gama   

 

134.   Who was the ruler of Calicut welcomed Vasco da gama to India 

 a. Krishnadevar Raya  b. Nandivarma  c. Zamorin   d. Sundra Pandya  

 

 

135. Where did the Dutch established their first trading center  

 a. Bombay   b. Machilipatnam  c. Chinsura   d. Bhimilipatnam  

 

 

136.  When did English sent Sir Thomas Roe to the court of Jahangir to get permission for trade in 

India  

 

 

 a. 1600   b. 1608  c. 1615   d. 1639  
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137. In 1760 which battle resulted the end of French power in India  

 a. Battle of Adyar     b. Battle of Ambur   

 c. Battle of Wand wash    d. Battle of Buxar  

 

 

138. Who wrote the book The Economic History of India   

 a. Databhai Baoroji  b. R.C.Dutt  c. P.C. Mehalanobis  d. V.K.R.V. Rao 

  

 

139. Which Governor General introduced „Doctrine of Lapse‟ 

 a. Lord Dalhousie     b. Lord Wellesley  

 c. Lord  William Bentick     d. Lord Ripon 

  

 

140. Hyder Ali was defeated at porto Novo by which British General  

 a. General Bussy  b. Sir Eyre Coot c. Admiral Watson  d. Major Munro  

 

141. The impeachment of the President of India can be initiated in  

a. Either house of the Parliament    

b. A Joint sitting of both houses of the Parliament  

c. The Lok sabha alone  

d. The Raja sabha alone  

 

 

142. Who among the following was the first Law Minister of India?  

a. Jawaharlal Nehru     b. Maulana Abul Kalam Azad   

c. B.R. Ambedkar     d. T. Krishna machari  
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143. Who was the President of India at the time of proclamation of emergency is the year 1976?  

a. V.V. Giri     b. Giani   

c. Fakhruddin Ali Ahmad    d. Shankar Dayal Sharma 

  

 

144. The Directive Principles of state Policy in the Constitution of India have been taken from which 

one of the following country? 

a. The Constitution of Ireland  b. The Constitution of United States of America 

c. The Constitution of Australia  d. The Constitution of Canada. 

 

145. Which one of the following has got most effective provisions towards the establishment of socio-

economic justice in India? 

a. Fundamental Rights   b. Fundamental Duties 

c. Directive Principles of the state Policy d. Preamble of the Constitution. 

 

146. Which one of the following is not correctly matched regarding the source of our Constitution 

 Constitutional Provisions   Country 

a. Vice President as Ex-officio Chairman  - Ireland 

b. Federation with strong centre         - Canada 

c. Emergency Provisions         - Government of India Act, 1935 

d. Concurrent List         - Australia. 

 

 

147. The Constitutional 42
nd

 Amendment act inserted certain words in the preamble which one of the 

following is not inserted 

a. Socialist  b. Sovereign  c. Secular  d. Integrity. 
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148. Consider the following statements about schedules of our constitution, which one of the following 

is/are Not correct? 

1. The Fifth Schedule of our constitution describes the Administration of Tribal areas of Assam, 

Meghalaya, Mizoram and Tripura 

2. The Tenth Schedule describes languages declared as official languages 

 

 

a. 1 only  b. 2 only  c. Both   d. None. 

 

149. The prohibiting the suspension of Article 20 and 21 (Protection in respect of conviction of offences 

and protection of life and personal liberty respectively) even during National Emergency is included 

in constitutional amendment act of 

 

 

a. 24
th

 Amendment Act   b. 42
nd

 Amendment Act 

c. 44
th

 Amendment Act   d. 27
th

 Amendment Act. 

 

150. The Constitution names our country as 

a. Bharat     b. India  

c. India that is Bharat   d. None of these  

 

151. If ax
 = b, b

y
 = c, c

z 
= a, then what is the value of xyz? 

a
x
 = b, b

y
 = c, c

z 
= a,  

a. 3   b. 4   c. 9   d. 1 

 

152. Find LCM of 4/5, 3/10 and 7/15. 

 

 a. 84/5   b. 5/84   c. 2/15   d. 12/15 

 

153. In a geometric series, if the fourth term is 2/3 and seventh term is 16/81, then what is the first term 

of the series? 
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a. 2/3   b. 4/9   c. 8/27   d. 9/4 

 

154. Find the next number in the following series 4, 6, 9, 13 ½ 

 

 

 

a. 20 ¼  b. 22 ¾  c. 19   d. 17 ½ 

 

155. Which one of the following is the smallest ratio? 7:13, 17:25, 7:15, 15:23 

 

 

 

a. 7:13   b. 17:25  c. 7:15   d. 15:23 

 

156. Simplify: (796 x 796 - 204 x 204) =? 

( 796 x 796  - 204 x 204 ) = ? 

a.. 250000  b. 592000  c.. 36000  d. 529000 

 

157. Simplify (789 x 789 x 789 + 211 + 211 + 211) / (789 x 789 – 789 x 211 + 211 +211) 

789 x 789 x 789 + 211 + 211 + 211) / (789 x 789 – 789 x 211 + 211 +211) 

a. 100   b. 200   c. 3000   d. 1000  

 

158. Find the value of  /a/ = ? 

a. a   b. 1   c. a< 1   d. a>1 

 

159. 𝑥/y = 3/5 then( 5𝑥 + 2y)/( 5𝑥 – 2y ) 

a. 1   b. 5   c. 2    d. 10  

 

160.  √  
  

   
   

a. 2/3    b. 6/7   c. 13/12  d. 12/13 

 

161. Which one of the Governor General introduced the permanent settlement?  

a. Warren Hastings  b. Lord Cornwallis  c. Sir John Shore  d. Lord Wellesley  

 

 

162. Which reform movement started the Shuddhi movement to convert non Hindus to Hinduism  

a. Brahmo Samaj  b. Veda Samaj  c. Arya Samaj  d. Dharma Sabha  
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163. Match the following  

 Author     Books  

A. Raja Ram Mohan Roy  - 1. Satyartha Prakash  

B. Dayananda Saraswati   - 2. Ruhafat-ul-Muwahidin  

C. Swami Vivekananda   - 3. To India My Native Land  

D. Henry Vivian Derozio   - 4. Prabhudha Bharata  

 

 

 A B C D  

a. 1 2 3 4 

b. 1 2 4 3 

c. 2 1 4 3 

d.   2 1 3 4 

 

164. Who published the newspaper Mirat-ul-Akbar  

a. Raja Ram Mohan Roy   b. K. Sridharalu Naidu  

c. Devendra Nath Tagore    d. Keshab Chandra sen  

 

 

165. Which one of the following Leader founded Satya Shodhak samaj  

a.Gopal Krishna Gokhale    b. Jyotibha phule 

c. Sarala bala devi chaudharani    d. Mahatma Gandhi  

 

 

166. Who launched Temple entry movement in Kerala  

a. E.V. Ramaswami     b. T.K. Madhavan  

b. Annie Beasant     d. Viresalingam Pantalu  
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167. Who founded Aligarh Muslim School in 1875  

a. Syed Ahmed khan    b. Mohammad Qasim Nanutavi  

c. Mirza Ghulam Ahmed    d. Riza khan  

 

 

168. When did the title „Periyar‟ was given to E.V. Ramaswami  

 

 

a. Nov 07, 1928 b. Nov 13, 1938 c. Dec 29, 1938 d. Aug 27, 1944   

 

169. Which one of the following Newspaper was not founded by Periyar  

a. Kudiyarasu   b. Revolt   c. Unmai   d. Justice  

 

 

170. Which one of the following leader started the Newspaper Bahishkrit Bharat?  

a. Dadabhai Naoroji     b. Syed Ahmed    

c. Dr.B.R. Ambedkhar    d. M.G. Ranade  

 

171. Which of the following rights was describes by Dr B.R. Ambedkar as „The Heart and Soul of the 

Constitution‟? 

a. Right to freedom of Religion  b. Right to Property 

c. Right to Equality    d. Right to Constitutional Remedies. 

 

 

172. Under which Article of the Constitution the Cultural and Educational Rights are granted? 

 

 

a. Article 29 and 31 b. Article 29 and 32 c. Article 29 and 30 d. Article 30 and 31. 

 

173. Which one of the following is the correct chronological order of the formation of the following as 

full States of Indian Union? 

a. Sikkim-Arunachal Pradesh- Nagaland-Haryana 
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b. Nagaland-Haryana-Sikkim-Arunachal Pradesh 

c. Sikkim-Haryana-Nagaland-Arunachal Pradesh 

d. Nagaland-Arunachal Pradesh-Sikkim-Haryana. 

 

 

174. Match List-1 (Item in the Indian Constitution) with List-2 (Country from which it was derived) and 

select the correct answer using the codes given below the Lists: 

List-1 (Item in the Indian constitution)   List-2 (Country from which it was derived) 

A. Directive principles of state policy     1. Australia 

B. Fundamental rights       2. Canada 

C. Concurrent List in Union State Relations     3. Ireland 

D. India as a Union of States with greater powers to the union.  4. United Kingdom 

          5. United States of America 

 

Codes: 

      A      B      C      D 

a. 5      4     1      2 

b. 3      5      2      1 

c. 5      4      2      1 

d. 3      5      1      2. 

 

175. If a new State of the Indian Union is to be created, which one of the following schedules of the 

constitution must be amended? 

 

 

a. First  b. Second  c. Third  d. Fifth. 

 

176. Under the Constitution of india, which one of the following is not a fundamental duty? 

a. To vote in public elections 

b. To develop the scientific temper 

c. To safeguard public property 

d. To abide by the Constitution and respect its ideals 
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177. In the Indian Constitution, the Right to Equality is granted by five Articles. They are 

 

 

a. Article 16 to Article 20  b. Article 15 to Article 19 

c. Article 14 to Article 18  d. Article 13 to Article 17. 

 

178. Which one of the following is correctly matched 

1. Article 24   - Prohibition of child labour 

2. Article 39 (f) - Children healthy manner 

3. Article 45  - Free and compulsory education 

4. Article 48  - Right against exploitation 

a. 1, 2, 3  b. 2, 3, 4  c. 1, 3, 4  d. All the above. 

 

179. Which of the following articles are great significance to the emancipation of women 

a. 23 & 45  b. 23 & 24  c. 39 & 45  d. 24 & 39. 

 

180. Which constitutional amendment act, added three new words in preamble 

a. 7
th

   b. 31
st
   c. 42

nd
   d. 44

th
. 

 

181. 3
10 

 = ? 

a. 1024   b. 6561  c. 19683  d. 59049 

 

182. Simplify ( 243) 
n/5

 x 3 
2n+1

 / 9
n
 x 3 

n-1
  = ? 

( 243) 
n/5

 x 3 
2n+1

 / 9
n
 x 3 

n-1
  = ? 

    a. 9    b. 18   c. 1   d. 2  

 

183. 16 
0.12

 x 16 
0.09

 x 16 
0.04

 = ? 

a.. 1   b. . 2   c. 6   d.. none of theses 

  

184. . √    √     √          
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a. 2   b. 4   c. 6   d. 7 

 

185. (1 – 1/2) (1 – 1/3) (1 – 1/4) ……… (1 – 1/n) = ? 

a. 1   b. n   c.1/n   d. n/2 

 

186. Find the value of 46 + 47 + 48 + ………. + 65 =? 

46 + 47 + 48 + ………. + 65 =? 

a. 1110  b. 2210  c.1011   d. 2021 

 

187. What will be the sum of odd numbers between 1 to 200?  

a. 36,000  b. 49,000  c. 10,000  d. 16,000 

 

188. 1
2
 + 2

2
 + 3

2
+ …………..+ 15

2
 =?  

a. 1240  b. 1024  c. 2187   d. 256  

 

189. The sum of prime number which are in between 20 to 30 in a part of 1/13 is the perfect  

a.. 10    b. 4   c. 3   d. 2   

 

190. Simplify (256) 
5/4 

 = ? 

( 256) 
5/4 

 = ? 

a.1014   b. 1024  c.1204   d.1402  

191. The War between the Gurkhas and the English came to an end by the treaty of ----- 

a. Aixla Chapple b. Mangalore  c. Salphai  d. Sagauli 

192. Match the following: 

 List I     List II 

A. Herald of new age India  1. Ramalinga Adigalar 

B. Martin Luther of Hinduism 2. Rajaram Mohan Raj 

C. New India    3. Annie Peasant 

D. Vallalar    4. Dhayanandha Saraswathi 

 

 A B C D 

a.  1 2 3 4 

b. 1 4 3 2 
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c. 2 4 3 1 

d. 2 4 1 3 

193. Which one of the following person is called the Lokhitwadi?  

a. Dayananda Saraswati    b. Gopal Hari Deshmukh  

c. M.G. Ranade     c. Mul Sankar   

 

 

194. Who established Prarthana samaj?  

a. Ishwar Chandra vidya sagar   b. Derozio  

c. David Hare      d. Athmaram Panduranga  

 

 

195. What was the greatest contribution of Ishwar Chandra vidyasagar in the social reforms in India?  

a. He ensured the widow‟s marriage and girl‟s education  

b. Abolition of sati  

c. Established the Brahma Samaj  

d. Improvement the Brahma Samaj  

 

 

196. Which year the Hindu college was established  in Calcutta  

 

 

a. 1772   b. 1809  c. 1817   d. 1820   

 

197. Match the following  

British Fort    Established Year  

A. Fort st George  - 1. 1699  

B. David Fort   - 2. 1688  

C. Bomboy Fort  - 3. 1681  

D. Fort William - 4. 1640  
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 A B C D  

a.  4 3 2 1 

b.  4 3 1 2 

c.  3 4 2 1 

d.  3 4 1 2  

 

198. Who established the first French Factory at Surat  

a. Colbert   b. Francois Caron  c. Sir Thomas Roe  d. Francis Martin  

 

 

199. Which one of  the following statement is correctly matched  

 Founder     Independent States  

1. Nizam ul mulk Asaf Jahan   - Hyderabad  

2. Saadat khan Burhan -ul-mulk  - Awadh  

3. Murshid Quil khan    - Bengal  

 

 

a. 1, 2 only   b. 1, 3 only   c. 1 only   d. 1, 2, 3 

 

200. Treaty of Gandamak is related to which one of the following war  

a. First Anglo Maratha War    b. First Anglo Sikh War  

c. First Anglo Burmese War    d. Second Anglo Afghan war   

 

 


